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KeyConceplts Parallel and Skew

Parallel lines are coplanar lines that do not - Jf > K, Arrows are used to

intersect. indicate that lines
Example '.@17 are parallel.

Skew lines are lines that do not intersect and are
not coplanar.

Example Lines £ and 171 are skew.

Parallel planes are planes that do not intersect.
Example Planes A and B are parallel.

— s =
JK || LM is read as line JK is parallel to line LM.




Real-World Example 1

a. all segments parallel

Identify each of the followii g using the wedge of cheese below.

b. a segment skew to KL
— — —
J¥ Tr P4
¢. a plane parallel to plane PQR
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' GuidedPractice
Identify each of the following using the cube shown.
1A. all segments skew to BC AF D e HKe

1B. a segment parallel to EH ~ (-

1C. all planes parallel to plane DCH







KeyGoncepl Transversal Angle Pair Relationships

Four interior angles lie in the region
between lines g and r.

£3,£4, 25, /46

Four exterior angles lie in the two regions
that are not between lines 7 and r.

£1,£2, 71, 48

Consecutive interior angles are interior
angles that lie on the same side of
transversal t.

Z4and 25, Z3and £6

Alternate interior angles are nonadjacent
interior angles that lie on opposite sides of
transversal t.

Z£3and £5, £4 and £6

Alternate exterior angles are nonadjacent
exterior angles that lie on opposite sides of

Z1and £7, £2and £8

Z1and £5, £2and £6
Z3and £7, Z4and £8




Example 3

Identify the transversal connecting each pair of
angles in the photo. Then classify the relationship
between each pair of angles.
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3A. Z3and £5 3B. £2and £8
3C. Z5and Z7 3D. £2and 29




